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B/ v — : 8-Pin TSSOP

No. HERA HEREH B r/n W R E
1 | &REME Ta=125 °C, V = Vopr max. 1000 h 0/22 |HERKEH/RET DL
2 |BEEEAqTR Ta=85 °C, RH=85% 1000h | 0/22 |HEBHEBRT S
V = Vopr max.
3 [FLyvesyh-ngFRH Ta=125°C, RH=85 %, P=2x10° Pa 100 h 022 |BSBEERETH &
V = Vopr max.
4 |ERRF Ta=150 °C 1000 h 0/22 |ERIREER/ET S &
5 |[EERTEF Ta=—-65 °C 1000 h 0/22 |BmRBER/RET S &
6
6 |EEH]AYAYIL-1 Ta=85 °C, Vcc = Vopr max. l;c:eos 0/22 |H@RRERBET S L
- 5x 105 J o _
7 |EBEBRAYAIIL-2 Ta=105 °C, Vcc = Vopr max. oycles 0/22 |HFBREFBRT S &
8 |[BEHA I (K48 M Ta=150°C ¢ -65°C, %& 15 % 500 cycles | 0/22 |HRMREEB/RT D&
R HEBEREBRET DL
9 [ihf:ﬁﬂ#?&'fﬁ 1 (U 7 D—) #2 T=260 oC, 10s 3] 0/22 %EEJ:\ ;ﬁb\*@g - &
. e T=380°C, 55 ([FAFaTHERE) HEBRRERRTLHIL
10 [IFAETEVE 2 (IFAETT) 2 HE U R 2[E 0/22 ML, BEAEEC L
. HREREBRET DL
1 | [FAEmEE 3(To—)#2 T=260 °C, 10s 1 0/22 L. AL L
TRV ARE A LA 3IBLUA
T=245 °C ThdZ &
= 4= [ #. _ .
12 |BATA TR (XA 15#f : Sn-3.0Ag-0.5Cu 5s 0T | s mmEas 0 95% LI LA
FHTEOLNDZ L
ZH XA 40 L
13 [m4 25 1 (ZEREE) Ta=30 °C, RH=60% 4000h 0/6 Z ;J iy ZL'( um LT
14 |94 XD 2(RETA1IIL) Ta=85°C & —40°C 1500 cycles | 0/6 2;2?34X75\ 45um EUF
15 |V 4 A N3 (BEREERT) Ta=55 °C, RH=85 % 4000h 0/6 2;2 j_J ZL'{ ABE40pum AT
16 IFAFEESEEN Ta=125°C & -40°C 2000 cveles | 0/22 WHIEEED 50% L LD
(& ABFIREE) 73 [£A 72 - Sn-3.0Ag-0.5Cu Y BEEMHTHL
17 | J— K5I -8R Y & E 513&75 : 1.0N 30s 0/11 |U—FHBZELEWNI &
18 | ) — KEAIT3&E BI38H : 0.5N 45 ER Y ahIF 2 @ 011 |U—FHBEELEWNS &
V=+2000 V, C=100 pF, R=1.5 kQ .
== 1] O 3 :
19 | B EME 1(HBM) Voo 2% GND £ 5 [a] 05 |HEREEFHRTHIL
20 |E#EME2(CDM) V=+500 V #E, EHRE 1 [ 05 |MEBEEBRRT S L
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SYFT Y THRE

21 +100 mA, V = Vopr max. 1@ 05 |SYyFF7yILAEWNI &
LR EBIEAE) P
7E) Vopr max.=ix KEIEEE
#1,2,3: AILIEZ =R, V) —XIZHEBRE2EET 5,
Bl L B (#1)
BRRE R oA 38
s Ta=85 °C 1y 70—3ME
Tat;;ifsh C RH=85 % T=260 °C
t=168 h t=10's
B AW B (#2)
ERRE IR%E AL EAnIe
e Ta=85 °C
Tat':;i‘r’h C RH=85% —
t=168 h
Bl A B (#3)
BRRE R LR
Ta=105 °C
- RH=100% -
t=8 h

TATY v ok et




